Alg. 2/Trig.






Name__________________________

Unit 2 REVIEW






Date___________________________

1.  Margot and Francois were doing their algebra homework when Margot's dog, Pepe, bit off a piece of

the paper they were working on.  All they had left was a part of the sequence:  6, 30, ... and the fact that

750 was another term of the sequence.  

a) Could the sequence be arithmetic?  If so, what is the equation of the nth term and what term number is  750?

b) Could the sequence be geometric?  If so, what is the equation of the nth term and what term number is  750?

2.  Finish the table and find an equation for each of the following sequences.  

	a)
	n
	0
	1
	2
	3
	4

	
	t(n)
	42
	34
	26
	
	


	b)
	n
	0
	1
	2
	3
	4

	
	t(n)
	42
	21
	10.5
	
	


3.  Five bottles of shampoo cost the same as three bottles of conditioner.  One bottle of shampoo and six

bottles of conditioner cost $56.10.  How much does each hair product cost?  

4.  Give the next three terms of the geometric sequence below and write a formula for the nth term of the

sequence.  

 

3, 12, 48, ____, _____, _____

5.  If
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6.  Solve for x.
	
x

                                                                  32°

                           75

	7.  In an arithmetic sequence,   t(5) = -19 and   t(12) = -40.


a)
Find the common difference (generator).


b)
Find the initial value, t(0).


c)
Write the rule for this sequence.


8.  Suppose your parents loan you $2000 for your car.  You plan to give them $150 a month to pay it off.  

a) How much money will you owe them 6 months from now? 

b)  How long will it take to pay off the loan?

c) Write an algebraic expression that would represent this situation.
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